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Hs 49 2= 22 | Total A B C D

30 d2M | IS8 S30ls| 486 98 97 08 98 97
306 | 28 | DER [ SF0s| 483 97 97 95 97 96
303 | A0t | DSST SX0ls| 479 | 94 | 97 | 97 | 9% | 98
311 | MG | DSS (Sx0ls| 479 | 94 | o7 | 9% | 97 | 93
305 | AOIX | SR SF0Ms| 479 97 97 95 95 94
304 | 201A | DER EF0s| 478.8 | 95.8 98 | 96 | 94 95
300 | HOIR | DST SX0s| 478 | 9% | 96 | 94 | 9% | %5
310 | ALY | DER (EEBUs| 474 93 96 g5 94 95
312 | HEM | 1S |SF0s| 474 94 96 97 95 92
307 | AR | NER SEF0s| 473 93 98 97 94 94
301 | &XIQ | NER |[SFAUH 470 | 92 96 95 93 94
302 | 0IM3 | DES Sxge 463 | 91 | 9% | 94 | % | 93
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